Math 2602 Finite and Linear Math Fall 14

Quiz 3
1. True or False? The statement below is DNF. {5 pts.)

(pA—q)Vr
“True, since d s 2 Ai%juvxckiw of conjonchions of variables o Hair negstions.
(Noke: according Yo bhe Yook, the ancier would be falee since the hook

also r‘ei\,ireg evenj varable to be present in each whjuy\cé,bn'B

2. Simplify the following statement. If it is a tautology or contradiction, you must say which for
full credit on this problem.

[(pAg) =]V (pA-T)
B [prdoF) is tre, than 4he statemert s troe. (5 pts.)
T [Gagh»c] is dalve, then (pag) is troe and © is false.
Hence o is tvoe and e s true, and so (P’\"r\ s troe.
This shows tha statemend s 4ree.
The statemet 15 brue \n all cases, o & s @ 'tau{:clong,

(Rou can also use logical eguivalentes or truth tables ko solve Hus CZUQS"HOV\\)
3. Determine the validity of the argument. You must clearly justify your answer for full credit.
A correct response with little or no justification will not receive full credit. (10 pts.)

p—=T
-p =T

r
Suy?ose ot %QSUMFHDV\S hold.

£ P 15 true then = s troe by the sk assomption.
1% e ity —(:a\qe —‘c\,\g,v\ — 1'5 e (mj *the S‘e(_ol/\c) 8§SUM{>'£'LDV\.
| hd.

s \a
Tn all ages, © 18 true so the ar%one,w\: s\
/

te. troth value assignments > p and ¢
whexe both assumprions held

(Mev can slso vse truth )@3\235




